REBXFOELUE bigAO04-(1)

HOBRRETN—IDBERESL—ZVT

11 242= 11444 =

21 44+4= 5| 949 =

3 14+1= 9| 3+ 5H=

119+4= 1004+ 5=

5114 2= 1 14 1=

6/ 3+ 1= 2 545=
RET; @ zin



REBXNFOELUE bigAO04-(2)

1 444= 11 144=
2 9+ 2= 8 3+4 =
312+ 1= 9] 24+ 3=
11441= 10054+1=
5 3+ 1= 134 2=
6] 3+ 3= 12 944 =

MOBRRETN—IDBERESL—ZVT



REBXNFOELUE bigAO04-(3)

MOBRREDN—IDBERESL—ZVT

1 242= 1124+ 3=

21443 = 31944 =

3 9+2= 9545 =

413+ 3= 100 344 =

52+ 1= M3+ 3=

6/ 3+ 1= 2543 =
RET; Qzn



REBXNFDREUE 2)|=>| 114+4= 8 111+4= 5
PiEADDa 215+2=7 [8]3+4=7
[@’:ﬁ%] 32+1=3 [0124+3=5
14+1=>5 [0O5+1=6
(1) 3 5 3+1=4 [13+2= 5
} ~ 63+3=6 [1224+4=06
1124+2= 4 114+4= 8 1124+2= 14 71124+3= 5
2044+4=8 [82+2=4 24+3= 17 82+4= 6
3/ 14+1= 2 9/3+5= 8 31594+2=17 9/9+5= 10
4/9+4=9 [104+45=9 4/3+3=6 [103+4=7
5/1+2=3 [1+1= 2 5/2+1=3 [113+3=6
6/ 3+1=4 [1254+5=10| 6/3+1=4 [254+3= 8
2 ? 1& ? ﬁ&'@ﬁ%@—ié%i&f%u—:yﬁ https://magald.com




